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Ushnmnwhphkp
45211229/508  |Ghbwipwpuljmb wphunnawbplbp nupnghkph hunfup ZPU npunt * 1
45211229/520 Chinupupuljwth wyhnonwiiphkp qupngikph hunfup ZpU npud . 1
45211229/522  |Chimpwpmlwh wphwunwbplkp qupngikph budup 2PU npand . 1
45211229/523 Chiwpwpwhwh wyjrmmabplkp guypngikph huup 2PU npund . 1
45211229/524 Chtwpwpwhwh wyjuwnubplkp gupnghkph hudwp pAS ) pud . 1 *
45211229/525 Chhwpupwlub wylunwbpbkp gupnghbph hudwp 2P0 npwd i 1 Y
45211229/526 Chiwpwpuljwh wyhunnmbphtp nupnghbph hunfwp 280 npund * 1 '
45211229/527 Chiwpwpwljuh wymunawbpibp nupngibph hudwp ZeU npwd * 1 *
45211229/528 Chinupwpwljwh wyhnunwbphkp pupnghkph hunfwp pisiy gpunt ¥ 1 .
45211229/529 Chinupupuljwh wylnonwbphbp guypnghkph hunfup ZPU npunl * 1 *
45211229/530 Chtupuwpulwh wohwwnwbiphibp pupnghbph hunfwp 2RU ppunf . 1 "
45211229/531  |Ghtwpwpulwh wphwamabplbp pupnghkph hunfop 200 gpund - 1 4
45211229/532 Chiwpupulwh wylunwbpikp gupnghtph hundwp 2PU npud ¥ 1 *
45211229/533 Chiwpwpwhwh wplunnwbplkp pupnghkph hunfwp e npund . 1 :
45211229/535 Thtwpupuljuh wyhunowbphbp nuypngikph hunfwp 2P0 npud % i ¢ £
45211229/536 Ghtwupwpwljwh wyhnunwhpbkp nupngkph hunfwp Zer npunl = 1 .
45211229/537 Chiwpwpmipnb wyhnunwiiphkp qupnghkph hunfwp ZeU npunl = 1 *
45211229/546 Chinupwpuljwh wphnnwbpbbp nypnghkph hunfwp ZRU npund = 1 L
45211229/547 Chinmpwpulwh wpfownubphbp yupaghkph hulwp LeU npud = 1 e
45211229/548 Thiwpwpwhwh wywnubphbp guypngikph hudup pizoy npunf L 1 .
45211229/549 Chiwpwpwlwh wylunnmbpikp gupnghkph hudwp LPU npund * 1 -
45211229/550 Chiwpwpmbwh wohwnwbphkp nupnghbkph hunfup pAs iy npud “ 1 =
45211229/551  |Chhwpwpulub wpwnwiphbp gupngtkph hunfup 2P0 npund . 1 .
45211229/552 Chtmpupuijuh whunawbpibp nupnghbph hunfwp pasli) npud . 1 &
45211229/553 Chimupupuljmb wyhmunwbplibp nupnglibph hufup ZRU npund * 1 =
45211229/554 Chinupupuljwh wohunwhphkp nuypnghkph hunfup PT npunl 2 1 3




45211229/559 Chiwpupwlub wyjunnwipithp nupnghbph hudwp pisli) npud 2 1 "
45211229 Chiwpwpwluh wylunnwbipltp nupnghtph husfup 200 npund . 1 .
45211229 Chinupupulwh waluwunnubplbp gupngtkph hunfwp 2rU npud . 1 2
45211229/501  |Ghtwpwpuiljuh wphnmnwbphkp qupnglibph hunfup 2P0 npunl . 1 .
45211229/502  |Chtnupwpwlwh wpprmawbphkp pupnglibph hunfup 2P0 npund . 1 .
45211229/503 Chiwpupulwh wylunnwbplbp qupoghbph hudwp 2RU npud g 1 *
45211229/504 Chiwpwpwlwh wylwnwbpilp nupnghbph hudwp 2PU npund ¢ 1 "
45211229/505 Chiwpwpuljmb wyjnunnwbpibp pupnglkph bunfuwp 2eU npunl o 1 %
45211229/506 Chinupupulpmh wphnmnwiipikp nupnghkph hunfup pisiy npund s 1 =
45211229/507 Chinupupulwh wphnwbpbbp nuypoghtph hudwp ZPU npud % 1 *
45211229/508 Chiwpwpubwh wylunwbipikp pupnghkph hudwp pasiy npunf . 1 *
45211229 Chiwpupulwb wymnambpihp qupnglbph bunfwp 2PU ppad : 1 :
45211229 Chtwpwpuljub wylnwbplbp nupnglbph hudwp 2P npund * 1 ¥
45211229 Chimpupuljwh wyhmmnwbplbp pupegikph bunfwp pisii) npund ¥ 1 ’
45211229 Chiupwpulnh wyhnninwbpbbp qupnghbph hunfup 2PU gpunf . 1 &
45211229 Chimpwpulwh wplmmnuwbphkp qupngikph hunfwp 2PU npund . 1 =
45211229 Chiwpwpulwh wylunwbplkp puypeghbph hudwp 2RU npunl s 1 *
45211229 Chhwpupwhwh wyleuwnawbplitp pupnghbph hunfup 2P0 npud g 1 *
45211220 Chiwpupumlut wyhunnwbpikp qupngbbph hunfup 200 npud . 1 .
45211229 Chtnupupuljwh wyhmnwbplkp nupegikph hudwp 2PT npunf " 1 *
45211229 Chinapupwlut wyhwnwhphbp qupnghkph hunfup 2P0 npund . 1 .
45211229 Chimpwpwlwh wpmabiphkp gupngitph hofwp ZPU npund * 1 &
45211229 Chimpupwlwh wyhmnmubiphkp puypoghkph hudup 2eU npund & 1 o
45211229 Chwpupulwb wylunwbpbbp nupnghbph hunfwp 28U npud -2 1 3
45211229 Chimpwpuljwh wylunnwbphtp nupnghbph hunfuwp 2P0 npund L 1 .
45211229/501  (Chtmpupuljmb wphmnnmbiplp pupnglkph hunfup 2PU npund . 1 .
45211229/502 Chinupwpulpuh wyhnonmbphtp nuypngitph hunfup ZPU npunf » 1 -
45211229/503 Chimpupwlwh wylumnwiipblp quypngitph hunfup ZPU npund » 1 2
45211229/504 Chiwpwpuwlwh wyjewnwbpbp pupnghbph hudwp ZPT npunf & 1 ¢
45211229/505  |Chiwpwpmlwh wphmamubiplbp pupnghkph hunfup 2P0 npunt . 1 .
45211229/507 Chhwpupwlwh wolunnwbphkp nupnghbph hunfwp 2P0 npund o 1 .
45211229/508  |Ghbwpwpulwh wplwunawbpibp qupogbkph hunfwp RU o . 1 .
Unjutnuip’ «Uupquijmb omkljnhkph shbwpupnipnibs

45211131 Uwpquiljwi opjkljintibph shhwpwpmljmb wohnnnmiphkp rU gpunf < 1 L.

Cwruynipimbibp

71351540 Skjubhlualjwh hulyanopywh bwomnpmpitkp 2P0 npunt . 1 g
71351540 Skpbhjulwh huloymppuh dwowmpmbikp ZRU npund * 1 4
71351540 Skjulhlwlwh hulynnnippuh Sunummpmm bty zrU npund . 1 .
71351540 Skjubhljwlmh huljnnmppoh dwowmpmibbbp e npud Y 1 *
71351540 Skjubihljuljwb hulnqappub Sunumipymbbkp U npud . 1 !
71351540 Skjuthjmljmb huljnympub Swnuympyoibbkp 28U npuyd i 1 "
71351540 Skubihljwljwh huljnynipjub Supumpmbbbp 2PU npunl . 1 Z
71351540 Sthuthwhwh huljngnipyub Swmonpmibtbtp LPU npul " | B
71351540 Stutthwljwh holjagmpub swmmnipmbikp RU npunl : 1 .




71351540 Skjulihljulwb huynnprob Supuynipgibbkp 200 ol . 1 &
71351540 Stubthijulwh hujnnmpui Swowmpnibikp ZFU npud 2 1 2
71351540 Sklutthiwluh huljnympyub Swowmpmbbkp 2PU npund o 1 .
71351540 Sklubhluluh hulnnoupput Sumun ey bikp B0 i . 1 .
71351540 Skjulthlulwh huynnmpput Supuym pymbhbp R0 npud . 1 =
71351540 Skhutthulwh hunnnipymb dwowmpinibikp 2eU npwd = 1 .
71351540 Stubhtwipnt hulnnauppub Summmpeibbkp 200 npun . 1 .
71351540 Skjutthiwhwh huljnympjub Swowmpmbikp ZRU npunf * 1 "
71351540 Skhlihhwhwh hulnnmpob Swowopmbbbkp 2PU gpund . 1 *
71351540 Skjutihulwh hujngnppub Sunuwnpymbbbp 20U punl . 1 .
71351540 Skjubhljulwh huyngnipmub swpwmipmibtbp pasi) npund L 1 *
71351540 Skhutthiwlwh hulngnipyub Swowmpmbbkp eu npunf ® 1 .
71351540 Skuthywhwh hulngmpyut bwunwmpmbhbkp 2PU npunf . 1 *
71351540 Skjubhlumlwh hulnnnippub Swownpmitkp Z2PU npund * 1 .
71351540 Skbhhwlwib hulngm pjub Smowmipmibbbp 2RU gl - 1 .
71351540 Skubhiwlwh hulnnmpub Swownipm bikp 2P0 npund . 1 .
71351540 Stubtutut hulnnauppak S pyaibibkp 200 npunf . 1 .
71351540 Skhutihiwlwh huljngmpgub dwnunpniikp ZPU npund * 1 =
71351540 Skubihlmlmi hulnnoupput Sumnnpgcbkp 2P0 npund . 1 .
71351540 SEjulthhulwh hulpnmpmh Swouynipimbibkp 2P0 npunf n 1 *
71351540 Skjubhlymlwh hulnnm puth Supwnipmibikn 2P0 npunk . 1 .
71351540 Skuhiwmlmb hunnympywb Swouympnbbkp P npunl . 1 .
71351540 Shlubhlwlwh hungnpyub Smmmmpmibikp 2P0 pun . 1 .
71351540 Skjutthiwhwh huljngmpjub Swownpmibbkp ZRU npund . 1 g
71351540 Skjuthiwhmb hulanmpjub Swounipmbikp ZRU npund * 1 =
71351540 Skjutihulut hulnnmppwh Swrwnipmibitp i) e * 1 *
71351540 SEuithiwlwh hulnnnpyuh Swowmipmibbbp pis i) npund ¥ 1 .
71351540 Skiubhljwlwh hulynnn pyuh Sunmmupnbitp 20U npunl " 1 .
71351540 Skuthtwlwh huljanmppub Swommpmbbbp 2rU npuad o 1 *
71351540 Skubihlwhwh huljnqoupyuh Swownipmibhkn e sypunt . 1 .
71351540 Skjubthhwljwh hulnnmpimb dunwmnipmibikp 2PT npunf = 1 = A
71351540 Skubhhwlwh huynympmuoh dwewn pm bikp ZRU pund . 1

71351540 Skjutthiulwh hulnnmpjuh dwownipmmbbkn ZRU npund . 1 s
71351540 Skjubthijwlwb hulnnymppub dwowmpmbbkp LRU npud = 1 =
71351540 Skjubhlywiwh huhagnipyub Swnumpgnibbhp weu npund & 1 .
71351540 Skjuthiwljwh huljagnippub Swowympmbbkp 2PT npund . 1 *
71351540 Skjuthiwhwh huljnymput Smounipmbikp LeU npunf - 1 *
71351540 Skjubhymlwh huljnnnpjub Swoummpmbbkp eru npunf £ 1 =
71351540 Skjuthhulwh hulnnmpul Swownipmbhkp LRU pud . 1 ¥
71351540 Skjuuhyulwh hunympjuh swowmipmbikp ZPU npud b2 1 *
71351540 Sklubhlwlwh hulnnoewh Suwowmpmbbkn 20U npund . 1 .
71351540 Skjutthjmlmb hulngmpymb Swowympibikp 2PU npund S 1 4
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Unypwbiphikp
42931100 [upnpunanphwljwh gktunphdniqiip b upopugubkp Q2 hunn * 1 *
33141174 pdoluljui vwppbph hujwpwbnmbiknp Q2 hunn . 1 *
38431340 wnywl Eppnishybikp 9z hunn - 1 =
38431340 wpywl Jkpposhsibp Qz hunn * 1 *
33141174 pdowhwb vwppbph bujwpwdmbkp Q2 hunn . 1 .
42911140 onh quuiwh nwppunjnpmlkp Q2 hwn o 1 *
33121150 bkjupwupnmgphy Q2 hunn * 1 3
33161150 njunuljny Q2 huun * 1 *
33121140 unnmpyub sunhuwh wwppkp Qz hunn 5 4 *
Upjounnwiipikp
45231131/505 iﬂtﬁt‘:ﬁmpﬂuﬁ Junnmjmbmpupbph hian Yuaugdwd fU npund 26,949,200 1 26,949.2
45231131/507 iﬁiﬁﬂ;ﬁmﬁmﬁ hannowlwzupkph bl ungud FU | npu 46,949,200 1 469492
45211228/501 Chtwpupwwh wphnmawmbphkp dwhjwapupnkqikph hudup U npunf 77,579,900 1 77,579.9
45211228/502 Chinupupwljub wyhnnubphbp dublwupopnbqibph hodup U gpunf 77,579,900 1 77,579.9
45211228 Chimpwpwlwh wyruwmubphbp nupnghkph hudup RU npund * 1 .
45211228 Chuwmpwpwljwh wplwanwipltp guyponghkph huidwp ZRU npud " 1 *
Spunifunwljwpwpdmb njmljmpmpkph htwn juupjus 4
45231131 lﬂl;l\l mmmhghlil:z pufwh unpodwhmpmpkph bl fup) 200 g . 1
Ownuympynthiikp
71351540/550 Skutthljuljwh huynynippah Swownipmibbkp Qz npud 2,076,000 1 2,076.0
71351540/551 Shjubthijwljmb hulnymppub Swowympobitp 92 npud 2,988,000 1 2,988.0
71351540/552 Skjutthjwljwh hulngnippub Swownipinibbkp 9z puwd 3,960,000 1 3,960.0
71351540/553 Skjthljmljmb hulnnm puh dwowynpymbbkp Q2 npud 3,960,000 | 3,960.0
98111140/501 Zknptnaljumhb huynnoipjul Swnenipmibbkp Ul g 837,000 1 837.0
98111140/502 2npiuluhh buynynipjuh Swownupobbbkp Ut npuyd 1,200,000 1 1,200.0
98111140 Zknhuwluyht huljngnput Swewnpym bk ou npud 1,384,128 1 1,384.1
98111140 Zbnhbwluyhb hungoupuh Swowynipmbkp Ul npund 1,000,270 1 1,000.3
79711160 Nupkljuhl dwouynipmihbtp Qz npud s 1 s
71241200501 [Lwlomqbkph uunpunmanul, sufankph qhuhunnad Q2 npunl . 1 .
71241200/502 ‘Uwiugbkph ypunpuunnul, dwhiukph ghwhuwnnud Q2 npunl " 1 %
71241200 Lwumgblph upunng ul, Swhaukph ghuhumanut Uu npun . 1 .
71241200 ‘Luthiugdbph wwwnpuunnul, swhubph gluhunnod uu npud 2 1 a2
71241200 ‘Lwhmugstph wwnpuunnud, smukph ginnbwnnud IRU npurd s 1 .
71241200 Lwuwgdlph wunpuunal, dwhubph ghwhwinnud ZPU npunl = 1 *




